

Uttryck  $w'_u$ ,  $w'_v$  och  $w''_{uu}$  i  $x, y$  om

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x = 2xw'_u + w'_v,$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x = 2xw'_u + w'_v,$$

$$w'_y = w'_u u'_y + w'_v v'_y$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x = 2xw'_u + w'_v,$$

$$w'_y = w'_u u'_y + w'_v v'_y = 2yw'_u - w'_v.$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x = 2xw'_u + w'_v,$$

$$w'_y = w'_u u'_y + w'_v v'_y = 2yw'_u - w'_v.$$

Så

$$w'_x + w'_y = (2x + 2y)w'_u$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x = 2xw'_u + w'_v,$$

$$w'_y = w'_u u'_y + w'_v v'_y = 2yw'_u - w'_v.$$

Så

$$w'_x + w'_y = (2x + 2y)w'_u \Leftrightarrow w'_u = \frac{1}{2x + 2y}(w'_x + w'_y).$$



$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x = 2xw'_u + w'_v,$$

$$w'_y = w'_u u'_y + w'_v v'_y = 2yw'_u - w'_v.$$

Så

$$w'_x + w'_y = (2x + 2y)w'_u \Leftrightarrow w'_u = \frac{1}{2x + 2y}(w'_x + w'_y).$$

$$w'_v = w'_x - 2xw'_u$$

$$\begin{cases} u = x^2 + y^2 \\ v = x - y. \end{cases}$$

$$w'_x = w'_u u'_x + w'_v v'_x = 2xw'_u + w'_v,$$

$$w'_y = w'_u u'_y + w'_v v'_y = 2yw'_u - w'_v.$$

Så

$$w'_x + w'_y = (2x + 2y)w'_u \Leftrightarrow w'_u = \frac{1}{2x + 2y}(w'_x + w'_y).$$

$$w'_v = w'_x - 2xw'_u = \dots = \frac{2yw'_x - 2xw'_y}{2x + 2y}.$$

$$w'_u = \frac{1}{2x + 2y}(w'_x + w'_y),$$

$$w'_v = w'_x - 2xw'_u = \dots = \frac{2yw'_x - 2xw'_y}{2x + 2y}.$$

$$w'_u = \frac{1}{2x + 2y}(w'_x + w'_y),$$

$$w'_v = w'_x - 2xw'_u = \dots = \frac{2yw'_x - 2xw'_y}{2x + 2y}.$$

$$w''_{uu} = (w'_u)'_u$$

$$w'_u = \frac{1}{2x + 2y}(w'_x + w'_y),$$

$$w'_v = w'_x - 2xw'_u = \dots = \frac{2yw'_x - 2xw'_y}{2x + 2y}.$$

$$w''_{uu} = (w'_u)'_u = \frac{1}{2x + 2y}((w'_u)'_x + (w'_u)'_y)$$

$$w'_u = \frac{1}{2x+2y}(w'_x + w'_y),$$

$$w'_v = w'_x - 2xw'_u = \dots = \frac{2yw'_x - 2xw'_y}{2x+2y}.$$

$$w''_{uu} = (w'_u)'_u = \frac{1}{2x+2y}((w'_u)'_x + (w'_u)'_y) =$$

$$\frac{1}{2x+2y} \left( \left( \frac{1}{2x+2y}(w'_x + w'_y) \right)'_x + \left( \frac{1}{2x+2y}(w'_x + w'_y) \right)'_y \right)$$

$$w'_u = \frac{1}{2x + 2y} (w'_x + w'_y),$$

$$w'_v = w'_x - 2xw'_u = \dots = \frac{2yw'_x - 2xw'_y}{2x + 2y}.$$

$$\begin{aligned} w''_{uu} &= (w'_u)'_u = \frac{1}{2x + 2y} ((w'_u)'_x + (w'_u)'_y) = \\ &= \frac{1}{2x + 2y} \left( \left( \frac{1}{2x + 2y} (w'_x + w'_y) \right)'_x + \left( \frac{1}{2x + 2y} (w'_x + w'_y) \right)'_y \right) = \\ &= \frac{1}{(2x + 2y)^2} (w''_{xx} + w''_{yx} + w''_{xy} + w''_{yy}) - \frac{4}{(2x + 2y)^3} (w'_x + w'_y) \end{aligned}$$

$$w'_u = \frac{1}{2x + 2y} (w'_x + w'_y),$$

$$w'_v = w'_x - 2xw'_u = \dots = \frac{2yw'_x - 2xw'_y}{2x + 2y}.$$

$$\begin{aligned} w''_{uu} &= (w'_u)'_u = \frac{1}{2x + 2y} ((w'_u)'_x + (w'_u)'_y) = \\ &= \frac{1}{2x + 2y} \left( \left( \frac{1}{2x + 2y} (w'_x + w'_y) \right)'_x + \left( \frac{1}{2x + 2y} (w'_x + w'_y) \right)'_y \right) = \\ &= \frac{1}{(2x + 2y)^2} (w''_{xx} + w''_{yx} + w''_{xy} + w''_{yy}) - \frac{4}{(2x + 2y)^3} (w'_x + w'_y) = \\ &= \frac{1}{(2x + 2y)^2} \left( w''_{xx} + 2w''_{xy} + w''_{yy} - \frac{4(w'_x + w'_y)}{2x + 2y} \right). \end{aligned}$$



# Alternativt skrivsätt med differentialoperatorer

Påståendet

$$w'_u = \frac{1}{2x + 2y} (w'_x + w'_y)$$

som gäller för alla  $w$ , kan alternativt skrivas

$$\frac{\partial}{\partial u} = \frac{1}{2x + 2y} \frac{\partial}{\partial x} + \frac{1}{2x + 2y} \frac{\partial}{\partial y}.$$

# Alternativt skrivsätt med differentialoperatorer

Påståendet

$$w'_u = \frac{1}{2x + 2y} (w'_x + w'_y)$$

som gäller för alla  $w$ , kan alternativt skrivas

$$\frac{\partial}{\partial u} = \frac{1}{2x + 2y} \frac{\partial}{\partial x} + \frac{1}{2x + 2y} \frac{\partial}{\partial y}.$$

Alltså gäller

$$\begin{aligned} \frac{\partial^2 w}{\partial u^2} &= \left( \frac{1}{2x + 2y} \frac{\partial}{\partial x} + \frac{1}{2x + 2y} \frac{\partial}{\partial y} \right) \left( \frac{1}{2x + 2y} \frac{\partial}{\partial x} + \frac{1}{2x + 2y} \frac{\partial}{\partial y} \right) w = \\ &= \left( \frac{1}{2x + 2y} \frac{\partial}{\partial x} + \frac{1}{2x + 2y} \frac{\partial}{\partial y} \right) \left( \frac{1}{2x + 2y} \frac{\partial w}{\partial x} + \frac{1}{2x + 2y} \frac{\partial w}{\partial y} \right) = \dots \\ &= \frac{1}{(2x + 2y)^2} \left( \frac{\partial^2 w}{\partial x^2} + 2 \frac{\partial^2 w}{\partial x \partial y} + \frac{\partial^2 w}{\partial y^2} - \frac{4}{2x + 2y} \frac{\partial w}{\partial x} - \frac{4}{2x + 2y} \frac{\partial w}{\partial y} \right). \end{aligned}$$